

### See a Social Security Number? Say Something! Report Privacy Problems to https://public.resource.org/privacy Or call the IRS Identity Theft Hotline at 1-800-908-4490



### Form 990-PF

### **Return of Private Foundation**

or Section 4947(a)(1) Trust Treated as Private Foundation

Do not enter social security numbers on this form as it may be made public.

Department of the Treasury

Information about Form 990-PF and its separate instructions is at www.irs.gov/form990pf For calendar year 2014 or tax year beginning and ending Name of foundation A Employer identification number THE HARBAUGH FAMILY 45-4090950 Number and street (or P O box number if mail is not delivered to street address) Room/sulte B Telephone number 405 MADISON AVE FLOOR 8 419-248-2600 City or town, state or province, country, and ZIP or foreign postal code C If exemption application is pending, check here TOLEDO, OH 43604 G Check all that apply: D 1. Foreign organizations, check here Initial return Initial return of a former public charity Final return Amended return 2. Foreign organizations meeting the 85% test, check here and attach computation Address change Name change X Section 501(c)(3) exempt private foundation H Check type of organization: E If private foundation status was terminated Section 4947(a)(1) nonexempt charitable trust Other taxable private foundation under section 507(b)(1)(A), check here ... I Fair market value of all assets at end of year | J Accounting method: X Cash Accrual If the foundation is in a 60-month termination under section 507(b)(1)(B), check here ...▶L (from Part II, col. (c), line 16) Other (specify) 919<u>,332.</u> ▶\$ (Part I, column (d) must be on cash basis.) Part I Analysis of Revenue and Expenses
(The total of amounts in columns (b), (c), and (d) may not necessarily equal the amounts in column (a)) (a) Revenue and expenses per books (d) Disbursements (b) Net investment (c) Adjusted net for charitable purposes income income (cash basis only) N/A Contributions, gifts, grants, etc., received ..... 2 Check X if the foundation is not required to attach Sch. B Interest on savings and temporary cash investments 14. 14. STATEMENT 3 22,536. 22,536. STATEMENT Dividends and interest from securities 5a Gross rents b Net rental income or (loss) 73,699 6a Net gain or (loss) from sale of assets not on line 10 b Gross sales price for all assets on line 6a 553,178. 699 7 Capital gain net income (from Part IV, line 2) 8 Net short-term capital gain Income modifications... 9 10a Gross sales less returns and allowances b Less: Cost of goods sold c Gross profit or (loss) 109 0 STATEMENT 3 11 Other income ..... 96,358. 96,249. Total. Add lines 1 through 11 13 Compensation of officers, directors, trustees, etc. О. Other employee salaries and wages ...... Pension plans, employee benefits ..... 16a Legal fees ..... b Accounting fees ..... 5,294. 5,294. 0. c Other professional fees STMT 4 Interest \_\_\_\_\_ Taxes ..... Depreciation and depletion Occupancy 2015 21 Travel, conferences, and meetings ..... Printing and publications .... 23 Other expenses .... 24 Total operating and administrative 5,294 5,294. expenses. Add lines 13 through 23 92,000. 92,000. Contributions, gifts, grants paid ..... Total expenses and disbursements. 92,000. 97,294 5,294 Add lines 24 and 25 27 Subtract line 26 from line 12: -936. 3 Excess of revenue over expenses and disbursements 90,955. b Net investment income (if negative, enter -0-) N/A c Adjusted net income (if negative, enter -0-)

423501 11-24-14 LHA For Paperwork Reduction Act Notice, see instructions.

423511 11-24-14 807,653.

Form 990-PF (2014)

5 Decreases not included in line 2 (itemize)

Total net assets or fund balances at end of year (line 4 minus line 5) - Part II, column (b), line 30

Œ	Part IV   Capital Gains a	ind Losses for Tax on In	vestment	Income					
_	(a) List and descr 2-story brick wa	ibe the kind(s) of property sold (e.g. rehouse; or common stock, 200 shs	, real estate, . MLC Co.)		( <b>b)</b> (b) (b) (b) (c) (c) (c) (c) (c) (c) (c) (c) (c) (c	How acquired - Purchase - Donation	(c) Da (mo.	te acquired ., day, yr.)	(d) Date sold (mo., day, yr.)
<u>1</u> a	PNC						VAR	IOUS	VARIOUS
_ <u>b</u>	<u> </u>			<del></del>	↓			<del></del>	ļ. <u></u>
_9					₩				
d			<del></del>		+-				
<u>_e</u>	(e) Gross sales price	(f) Depreciation allowed (or allowable)		st or other basis xpense of sale		<u></u>		) Gain or (loss lus (f) minus	
 _a	553,178.			479,47	9.				73,699.
_ <u>_</u>		<del></del>			-				
	·								
_d									<del> </del>
_ <u>e</u>	<u> </u>	r sain is solume (b) and sugged but	ha favadatian	on 10/21/60				(O-1, (1)1-	
-	Complete unity for assets snowing	g gain in column (h) and owned by t		cess of col. (i)			ol. (k), bu	(Col. (h) gain ut not less tha	n -0-) or
	(i) F.M.V. as of 12/31/69	(j) Adjusted basis as of 12/31/69		col. (j), if any			Loss	es (from col. (	(h))
a									73,699.
			-			· <del></del>			<del></del>
6									
		<del></del>		<u></u>	$\neg$			· -,	
_		( If gain, also enter	in Part I. line	7	٦				
2	Capital gain net income or (net cap	oital loss) { If gain, also enter	in Part I, line	7	. JL	2			73,699.
3	Net short-term capital gain or (los	s) as defined in sections 1222(5) an	d (6):		٦.				
	If gain, also enter in Part I, line 8,	column (c).			•			N/A	
ſī	If (loss), enter -0- in Part I, line 8 Part V   Qualification Us	nder Section 4940(e) for	Reduced	Tax on Net	Inve	stment Inc	ome	M/A	<del></del>
۰-		foundations subject to the section 4							
•		·	- 10()			,			
II :	section 4940(d)(2) applies, leave th	is part blank.							
		ion 4942 tax on the distributable am			iod?				Yes X No
1		fy under section 4940(e). Do not con ach column for each year; see the in			ntries				
÷		(b)	Structions ben	ore making any er	(c)	·			(d) pution ratio
	(a) Base period years Calendar year (or tax year beginnin		tributions	Net value of no	nchar	itable-use asset	s	Distrit (col. (b) div	oùtion ratio vided by col. (c))
_	2013		9,400.			870,929			.171541
_	2012	13	5,584.		1	,861,73			.072827
_	2011			·		10,79	5.	<del></del>	.000000
_	2010					<del></del>			
_	2009							1	
2	Total of line 1 column (d)						2		.244368
3	Average distribution ratio for the 5	i-year base period - divide the total o	n line 2 by 5.	or by the number	of yea		·  -	<del>                                     </del>	
•	<del>-</del>	ce if less than 5 years		-	_		. 3		.122184
								1	705 000
4	Enter the net value of noncharitable	e-use assets for 2014 from Part X, I	ine 5	•••••	•••••		4	<del>- </del> -	795,999.
5	Multiply line 4 by line 3						5		97,258.
Ŭ	maniply into 1 by into 0		***************				`		
6	Enter 1% of net investment incom	e (1% of Part I, line 27b)					. 6		910.
									00 460
7	Add lines 5 and 6						.  7	<del>- </del>	98,168.
8	Enter qualifying distributions from	Part XII, line 4					8	<u></u>	92,000.
	If line 8 is equal to or greater than See the Part VI instructions.	line 7, check the box in Part VI, line	1b, and comp	lete that part usin	g a 1%	% tax rate.			

423531

423541

Total. Add lines 1 through 3 ...

P	Minimum Investment Return (All domestic foundations must complete this part, Foreign four	idations, s	ee instructions.)
1	Fair market value of assets not used (or held for use) directly in carrying out charitable, etc., purposes:		<u>.</u>
	Average monthly fair market value of securities	1a	772,039.
b	Average of monthly cash balances	1b	36,082.
C	Fair market value of all other assets	1c	
d	Total (add lines 1a, b, and c)	1d	808,121.
e	Reduction claimed for blockage or other factors reported on lines 1a and		
Ī	1c (attach detailed explanation)	· `	
2	Acquisition indebtedness applicable to line 1 assets	2	0.
3	Subtract line 2 from line 1d	3	808,121.
4	Cash deemed held for charitable activities. Enter 1 1/2% of line 3 (for greater amount, see instructions)	4	12,122.
5	Net value of noncharitable-use assets. Subtract line 4 from line 3. Enter here and on Part V, line 4	5	795,999.
6	Minimum investment return. Enter 5% of line 5	6	39,800.
P	art XI Distributable Amount (see instructions) (Section 4942(j)(3) and (j)(5) private operating foundations an	d certain	
	foreign organizations check here  and do not complete this part.)		
1	Minimum investment return from Part X, line 6	1	39,800.
2a	Tax on investment income for 2014 from Part VI, line 5		
b	Income tax for 2014. (This does not include the tax from Part VI.)	-	
C	Add lines 2a and 2b	2c	1,819.
3	Distributable amount before adjustments. Subtract line 2c from line 1	3	37,981.
4	Recoveries of amounts treated as qualifying distributions	4	0.
5	Add lines 3 and 4	5	37,981.
6	Deduction from distributable amount (see instructions)	6	0.
7_	Distributable amount as adjusted. Subtract line 6 from line 5. Enter here and on Part XIII, line 1	7	37,981.
P	art XII Qualifying Distributions (see instructions)		
1	Amounts paid (including administrative expenses) to accomplish charitable, etc., purposes:	1 45	<del></del>
а	Expenses, contributions, gifts, etc total from Part 1, column (d), line 26	1a	92,000.
	Program-related investments - total from Part IX-B	1b	0.
2	Amounts paid to acquire assets used (or held for use) directly in carrying out charitable, etc., purposes	2	
3	Amounts set aside for specific charitable projects that satisfy the:		
	Suitability test (prior IRS approval required)	3a	
b	Cash distribution test (attach the required schedule)	3b	
4	Qualifying distributions. Add lines 1a through 3b. Enter here and on Part V, line 8, and Part XIII, line 4	4	92,000.
5	Foundations that qualify under section 4940(e) for the reduced rate of tax on net investment		
	income. Enter 1% of Part I, line 27b	5	_0.
6	Adjusted qualifying distributions. Subtract line 5 from line 4	6	92,000.
	Note. The amount on line 6 will be used in Part V, column (b), in subsequent years when calculating whether the foundation q	ualifies for	the section
	4940(e) reduction of tax in those years.		

Part XIII Undistributed Income (see instructions)

	(a) Corpus	(b) Years prior to 2013	(c) 2013	(d) 2014
1 Distributable amount for 2014 from Part XI, line 7		, ,		37,981.
2 Undistributed income, if any, as of the end of 2014:	,	1.		:
a Enter amount for 2013 only	,	T .	0.	
b Total for prior years:		0.		
3 Excess distributions carryover, if any, to 2014:	· · · · · · · · · · · · · · · · · · ·		1 1 2 1	
a From 2009			With the state of	<b>`</b> `
b From 2010	,	,	, ,	
c From 2011	•			
d From 2012 43,171.				
e From 2013 106,389.		,	, 11	
f Total of lines 3a through e	149,560.			
4 Qualifying distributions for 2014 from			, , , , ,	- 1 2
Part XII, line 4: ►\$ 92,000.	1 1	,	1	1, 1, 5%
a Applied to 2013, but not more than line 2a		•	0.	,
<b>b</b> Applied to undistributed income of prior			* 1	.* .
years (Election required - see instructions)	ı,	0.		· _ · · ·
c Treated as distributions out of corpus		No. 1. No. 3.	h	2
(Election required - see instructions)	0.			1 1 1
d Applied to 2014 distributable amount			*,	37,981.
e Remaining amount distributed out of corpus	54,019.		\$ .	
5 Excess distributions carryover applied to 2014 (If an amount appears in column (d), the same amount	0.		the second	0.
(If an amount appears in column (d), the same amount must be shown in column (a))		1 2		
6 Enter the net total of each column as	, ,			
indicated below:	*			
a Corpus Add lines 3f, 4c, and 4e. Subtract line 5	203,579.			ger to the transfer
b Prior years' undistributed income. Subtract	,	-	· · · · · · · · · · · · · · · · · · ·	et
line 4b from line 2b		0.		
c Enter the amount of prior years' undistributed income for which a notice of deficiency has been issued, or on which the section 4942(a) tax has been previously				
assessed	•	0.		4,
d Subtract line 6c from line 6b. Taxable			The state of the s	
amount - see instructions	<u> </u>	0.	1 4	1 4
e Undistributed income for 2013. Subtract line		,		
4a from line 2a. Taxable amount - see instr			0.	· · · · ·
f Undistributed income for 2014. Subtract				
lines 4d and 5 from line 1. This amount must				
be distributed in 2015				0.
7 Amounts treated as distributions out of		,	``	
corpus to satisfy requirements imposed by		- 1	, ,	٠,
section 170(b)(1)(F) or 4942(g)(3) (Election				
may be required - see instructions)	0.			2 / -
8 Excess distributions carryover from 2009		, , , , , , , , , , , , , , , , , , , ,		
not applied on line 5 or line 7	0.			
9 Excess distributions carryover to 2015.				
Subtract lines 7 and 8 from line 6a	203,579.	<u> </u>		
10 Analysis of line 9:				
a Excess from 2010	-			
b Excess from 2011		, =		
c Excess from 2012 43,171.				; '
d Excess from 2013 106,389.		, '		, ,
e Excess from 2014 54,019.		<u> </u>		- 000 55
423581 11-24-14				Form <b>990-PF</b> (2014)

Form 990-PF (2014)

b The form in which applications should be submitted and information and materials they should include:

d Any restrictions or limitations on awards, such as by geographical areas, charitable fields, kinds of institutions, or other factors:

c Any submission deadlines:

Form 990-PF (2014) Part XV Supplementary Information (continued) Grants and Contributions Paid During the Year or Approved for Future Payment If recipient is an individual, Recipient show any relationship to any foundation manager or substantial contributor Foundation Purpose of grant or Amount status of contribution Name and address (home or business) recipient a Paid during the year 501(C)(3) BOYS & GIRLS CLUB GENERAL CHARITABLE 2250 N DETROIT AVE TOLEDO, OH 43606 15,000. 501(C)(3) HEALTHNETWORK FOUNDATION GENERAL CHARITABLE 33 RIVER STREET CHAGRIN FALLS, OH 44022 5,000. 501(C)(3) IMAGINATION STATION GENERAL CHARITABLE 1 DISCOVERY WAY TOLEDO, OH 43604 5,000. SEMINOLE BOOSTERS, INC. 501(C)(3) GENERAL CHARITABLE P.O. BOX 2195 11,000. TALLAHASSEE, FL 32316 501(C)(3) ST. FRANCIS DE SALES HIGH SCHOOL GENERAL CHARITABLE 2323W BANCROFT STREET TOLEDO, OH 43607 30,000. CONTINUATION SHEET(S) **▶** 3a 92,000. <u>Total</u> b Approved for future payment NONE **▶** 3b Total

Part XVI-A Analysis of Income-Producing Activities

	l localete d	husiness income	T =		
Enter gross amounts unless otherwise indicated.	(a) Business	(b) Amount	(C) Exclu- sion	(d) Amount	(e) Related or exempt function income
1 Program service revenue:	code	Amount	code	Airiount	Tunction income
a			$\perp$		
b	<u> </u>				
C					
d					
e					
f					
g Fees and contracts from government agencies					
2 Membership dues and assessments					
3 Interest on savings and temporary cash					· · · · ·
investments			14	14.	
4 Dividends and interest from securities		- ·	14	22,536.	
5 Net rental income or (loss) from real estate:					
	ļ	· · · · · · · · · · · · · · · · · · ·	<del>  -</del>	·	
a Debt-financed property	<del></del>		+	· · · · · · · · · · · · · · · · · · ·	
b Not debt-financed property	<del> </del>		<del>                                     </del>	-	
6 Net rental income or (loss) from personal	1		1 1		
property		<del></del>		100	<del></del>
7 Other investment income	ļ		14	109.	
8 Gain or (loss) from sales of assets other					
than inventory			18	73,699.	
9 Net income or (loss) from special events			<del>                                     </del>		
10 Gross profit or (loss) from sales of inventory					
11 Other revenue:			1 1		
a					
b					
C					
d					
e					
12 Subtotal. Add columns (b), (d), and (e)		0.	ļ	96,358.	0.
13 Total. Add line 12, columns (b), (d), and (e)				13	96,358.
(See worksheet in line 13 instructions to verify calculations.)					
Part XVI-B Relationship of Activities to	the Accon	nnlishment of Ev	emnt D	urnoses	
	the Account	iphoninone or Ex	ompe i		
Total on portion and a					
Line No. Explain below how each activity for which incor			contribute	ed importantly to the accompl	ishment of
			contribute	ed importantly to the accompl	ishment of
Line No. Explain below how each activity for which incor			contribute	ed importantly to the accompl	ishment of
Line No. Explain below how each activity for which incor			contribute	ed importantly to the accompl	ishment of
Line No. Explain below how each activity for which incor			contribute	ed importantly to the accompl	ishment of
Line No. Explain below how each activity for which incor			contribute	ed importantly to the accompl	ishment of
Line No. Explain below how each activity for which incor			contribute	ed importantly to the accompl	ishment of
Line No. Explain below how each activity for which incor			contribute	ed importantly to the accompl	ishment of
Line No. Explain below how each activity for which incor			contribute	ed importantly to the accompl	ishment of
Line No. Explain below how each activity for which incor			contribute	ed importantly to the accompl	ishment of
Line No. Explain below how each activity for which incor			contribute	ed importantly to the accompl	ishment of
Line No. Explain below how each activity for which incor			contribute	ed importantly to the accompl	ishment of
Line No. Explain below how each activity for which incor			Contribute	ed importantly to the accomple	ishment of
Line No. Explain below how each activity for which incor			Contribute	ed importantly to the accomple	ishment of
Line No. Explain below how each activity for which incor			Contribute	ed importantly to the accomple	ishment of
Line No. Explain below how each activity for which incor			Contribute	ed importantly to the accomple	ishment of
Line No. Explain below how each activity for which incor			Contribute	ed importantly to the accomple	ishment of
Line No. Explain below how each activity for which incor			contribute	ed importantly to the accomple	ishment of
Line No. Explain below how each activity for which incor			Contribute	ed importantly to the accomple	ishment of
Line No. Explain below how each activity for which incor			Contribute	ed importantly to the accomple	ishment of
Line No. Explain below how each activity for which incor			Contribute	ed importantly to the accomple	ishment of
Line No. Explain below how each activity for which incor			Contribute	ed importantly to the accomple	Form 990-PF (2014)

45-4090950 Form 990-PF (2014) THE HARBAUGH FAMILY Page 13 Part XVII Information Regarding Transfers To and Transactions and Relationships With Noncharitable **Exempt Organizations** Yes No Did the organization directly or indirectly engage in any of the following with any other organization described in section 501(c) of the Code (other than section 501(c)(3) organizations) or in section 527, relating to political organizations? a Transfers from the reporting foundation to a noncharitable exempt organization of: X 1a(1) (2) Other assets ... X 1a(2) Other transactions: (1) Sales of assets to a noncharitable exempt organization 1b(1) (2) Purchases of assets from a noncharitable exempt organization \_\_\_\_\_\_ 1b(2) (3) Rental of facilities, equipment, or other assets 1b(3) (4) Reimbursement arrangements ..... 1b(4) (5) Loans or loan guarantees ...... 1b(5) Х (6) Performance of services or membership or fundraising solicitations c Sharing of facilities, equipment, mailing lists, other assets, or paid employees X d If the answer to any of the above is "Yes," complete the following schedule. Column (b) should always show the fair market value of the goods, other assets, or services given by the reporting foundation. If the foundation received less than fair market value in any transaction or sharing arrangement, show in column (d) the value of the goods, other assets, or services received. (a) Line no. (b) Amount involved (c) Name of noncharitable exempt organization (d) Description of transfers, transactions, and sharing arrangements N/A 2a Is the foundation directly or indirectly affiliated with, or related to, one or more tax-exempt organizations described in section 501(c) of the Code (other than section 501(c)(3)) or in section 527? Yes X No b If "Yes." complete the following schedule. (a) Name of organization (b) Type of organization (c) Description of relationship N/A Under penalties of perjury, I declare that I have examined this return, including accompanying schedules and statements, and to the best of my knowledge and beliefy is true, correct, and complete. Declaration of preparer (other than taxpayer) is based on all information of which preparer has any knowledge. return with the preparer Sign Here X Yes No Signature of officer or trustee Title Preparer's signature Date Check [ Print/Type preparer's name

Form 990-PF (2014)

P00958878

(248) 952-02<u>00</u>

Firm's EIN ► 38-2656556

self- employed

Phone no.

Paid

Preparer

**Use Only** 

Marke

CHERYL MACK,

CPA

TROY, MI 48098

Firm's address ► 1301 WEST LONG LAKE ROAD, SUITE 200

Firm's name ► GORDON ADVISORS,

THE HARBAUGH FAMILY

Part XV   Supplementary Information 3 Grants and Contributions Paid During the Y				<u> </u>
Recipient	If recipient is an individual,			
Name and address (home or business)	show any relationship to any foundation manager or substantial contributor	Foundation status of recipient	Purpose of grant or contribution	Amount
CT VPCVV LONDOW				
ST. URSULA ACADEMY 4025 INDIAN ROAD		501(C)(3)	GENERAL CHARITABLE	
TOLEDO, OH 43606				4,000
THE FLORDIA STATE UNIVERSITY FOUNDA		501(C)(3)	GENERAL CHARITABLE	
2010 LEVY AVENUE		552(5)(5)		
TALLAHASSEE, FL 32306-2739				5,000
TOLEDO COMMUNITY FOUNDATION, INC.		501(C)(3)	GENERAL CHARITABLE	
300 MADISON AVENUE				:
TOLEDO, OH 43604				2,500
TOLEDO MUSEUM OF ART		501(C)(3)	GENERAL CHARITABLE	
P.O. BOX 1013				
TOLEDO, OH 43697				1,500
TOLEDO SYMPHONY		501(C)(3)	GENERAL CHARITABLE	
1838 PARKWOOD AVENUE #310 TOLEDO, OH 43697				1,500
TORRIDO, OR 23057				1,500
TOLEDO ZOO P.O. BOX 140130		501(C)(3)	GENERAL CHARITABLE	
TOLEDO, OH 43606				1,500
UNITED WAY		501(C)(3)	GENERAL CHARITABLE	
424 JACKSON ST			GENERAL CHARTIABLE	
TOLEDO, OH 43604				10,000
	,			
Total from continuation sheets		·		26,000

FORM 990-PF INTERE	ET ON SAVIN	GS AND T	EMPOR	ARY C	ASH :	INVEST	MENTS	STATEMENT 1
SOURCE		RE	(A) /ENUE BOOK			(B) INVESTI INCOME	1ENT	(C) ADJUSTED NET INCOME
PNC			·	14.			14.	
TOTAL TO PART I, LI	NE 3			14.			14.	
FORM 990-PF	DIVIDENDS	AND INTE	EREST	FROM	SEC	JRITIES		STATEMENT 2
SOURCE	GROSS AMOUNT	CAPITA GAINS DIVIDEN	3	REV	A) ENUE BOOK!		(B) INVEST	
PNC	22,536.		0.	2	2,53	5.	22,536	•
TO PART I, LINE 4	22,536.		0.	2	2,536	5.	22,536	•
FORM 990-PF		OTHER	INCO	ME				STATEMENT 3
DESCRIPTION			RE	(A) VENUE BOOK		(E NET IN MENT I	IVEST-	(C) ADJUSTED NET INCOME
MISCELLANEOUS		_			109.		0.	<del>6. //./</del>
TOTAL TO FORM 990-PE	r, PART I, 1	LINE 11 =			109.		0.	
FORM 990-PF	OTI	HER PROFE	SSIO	NAL F	EES			STATEMENT 4
DESCRIPTION		(A) EXPENSES PER BOOKS		(B) INV:		ADJ	C) USTED INCOME	(D) CHARITABLE PURPOSES
INVESTMENT FEES		5,294		5	,294.	•		0.
TO FORM 990-PF, PG 1		5,294	<del>-</del>		,294.			0.

FORM 990-PF	CORPORATE STOCK		STATEMENT 5
DESCRIPTION		BOOK VALUE	FAIR MARKET VALUE
PNC EQUITIES		481,688.	592,268.
TOTAL TO FORM 990-PF, PART	II, LINE 10B	481,688.	592,268.
FORM 990-PF	CORPORATE BONDS		STATEMENT 6
DESCRIPTION		BOOK VALUE	FAIR MARKET VALUE
PNC FIXED INCOME		309,149.	310,248.
TOTAL TO FORM 990-PF, PART	II, LINE 10C	309,149.	310,248.



## HARBAUGH FAMILY FOUNDATION INC INVESTMENT MANAGEMENT STATEMENT Account number 21-75-072-3618098 January 1, 2014 - December 31, 2014

Page 46 of 50

Detail

## Securities delivered

Activity Adjustment	Description KIMBERLY-CLARK CORP		Date 11/03/14	Quantity		Original value at PNC - \$346.98	Market Value
Adjustment	DECREASE CARRYING VALUE NATIONAL OILWELL VARCO INC DECREASE CARRYING VALUE		06/02/14			- 1,093.88	
Total securities delivered						-\$1,440.86	\$0.00
Total non-cash transactions	A section of the sect					\$200,000,00	\$200,000,00
Kealized gain/loss detail Description	// Quantity	Avg. original value at PNC per unit	Total original value at PNC	Sale date	Sale price per unit	Total proceeds	Net realized gain/loss
	·Ю	\$63.67520	- \$1,591.88	06/18/14	\$76.14	\$1,902.70	\$310.82
EATON CORP PLC SEDOL B8KGN82 ISIN IE0088KGN827	175	63.67537	- 11,143.19	12/12/14	66.03	11,549.74	406.55
INVESCO LTD ISIN BMG491BT1088 SEDOL B28XP76	50	23.23000	- 1,161.50	06/18/14	37.42	1,869.45	707.95
MALLINCKRODT PLC SEDOL BBJTYC4 ISIN IEO0BBGT3753	6	39.01333	-351.12	06/02/14	78.05	702.16	351.04
ACE LIMITED ISIN CH0044328745 SEDOL B3BQMF6	25	103.61000	- 2,590 25	06/18/14	104.45	2,610.44	
TE CONNECTIVITY LTD SEDOL B62B7C3 ISIN CH0102993182	25	59.29000	- 1,482 25	06/18/14	61.73	1,542.46	
AT&T INC	25	35.37000	- 884.25	06/18/14	34.99	873.98	- 10,27
AMERICAN EXPRESS CO	38	57.81868	- 2,197.11	06/02/14	91.55	3,477.68	1,280.57
AMERICAN EXPRESS CO	25	57 81880	- 1,445.47	06/18/14	94 74	2,367.69	922.22
APPLE INC 3	c	236 64667	70 607 1 -	04/05/16	428 10	1 007 73	07 726



## HARBAUGH FAMILY FOUNDATION INC INVESTMENT MANAGEMENT STATEMENT

Account number 21-75-072-3618098 January 1, 2014 - December 31, 2014

Page 47 of 50

Description	Quantity	Avg. original value at PNC per unit	Total original value at PNC	Sale date	Sale price per unit	Total proceeds	Net realized gain/loss
APPLE INC	25	76.66400	- 1,916.60	06/18/14	92.26	2,305.69	389.09
BANK OF AMERICA CORP	009	8.07000	- 4,842.00	06/02/14	15.08	9,030.88	4,188.88
BANK OF AMERICA CORP	150	8.07000	- 1,210.50	06/18/14	15.64	2,341.44	1,130.94
BANK OF AMERICA CORP	:	8.07000	- 4,438.50	12/12/14	17.37	9,536.78	5,098.28
BRISTOL MYERS SQUIBB CO		32,57947	- 1,238.02	06/02/14	79.87	1,847.13	609.11
BRISTOL MYERS SQUIBB CO	50	32.57940	- 1,628.97	06/18/14	47.56	2,376 44	747.47
снивв сокр		00090.69	- 2,624.28	06/02/14	92.58	3,51682	892.54
снивв сокр	:	69.06000	- 1,726.50	06/18/14	93.46	2,335.69	609.19
CISCO SYSTEMS INC		20.69800	- 2,069.80	06/18/14	24.71	2,467.94	398.14
COCA COLA CO	50	34,55880	- 1,727.94	06/18/14	40.75	2,035.95	308.01
COMCAST CORPORATION CL A	•	29.30947	- 1,113.76	06/02/14	52.39	1,989.63	875.87
COMCAST CORPORATION CL A	•	29,30940	- 1,465.47	06/18/14	52.27	2,611.94	1,146.47
COMCAST CORPORATION CL A	50	29.30940	- 1,465.47	10/31/14	55.09	2,753.06	1,287.59
CONOCOPHILLIPS	50	57.01200	- 2,850.60	06/02/14	29.60	3,978.41	1,127.81
CONOCOPHILLIPS	:	57.01200	- 1,425.30	06/18/14	83.58	2,088.70	663 40
CONSTELLATION BRANDS INC CL A	25	83.68000	- 2,092.00	06/18/14	83.79	2,093.95	1.95
EMC CORP	363	27.17000	- 9,862.71	06/02/14	26.57	9,633.84	- 228.87
EASTMAN CHEM CO	38	52,63000	- 1,999.94	06/02/14	88.37	3,356.84	1,356.90
EASTMAN CHEM CO	25	52.63000	- 1,315.75	06/18/14	87.49	2,186.45	870.70
ENTERPRISE PRODS PARTNERS L P COM UNIT	25	75.15000	- 1,878.75	06/18/14	74.78	1,868.70	- 10 05
EXXON MOBIL CORP	38	85.29632	-3,241 26	06/02/14	100.26	3,808.65	567.39
EXXON MOBIL CORP	25	85.29640	- 2,132.41	06/18/14	102.50	2,561.69	429.28
FIDELITY ADVISOR FLOATING HIGH INCOME FUND I FUND #279	4,833.182	9.77061	- 47,223.16	06/18/14	9.98	48,235.16	1,012.00
GENERAL ELECTRIC CO	50	19.96380	- 998.19	06/18/14	26 86	1,341.47	343.28



## HARBAUGH FAMILY FOUNDATION INC INVESTMENT MANAGEMENT STATEMENT

Account number 21-75-072-3618098 January 1, 2014 - December 31, 2014

Page 48 of 50

Description	Quantity	Avg. original value at PNC per unit	Total original value at PNC	Sale date	Sale price per unit	Total proceeds	Net realized gam/loss
GOOGLE INC-CL A	5	559.51000	- 2,797.55	06/18/14	552.80	2,763.78	- 33.77
HALYARD HEALTH INC-W/I	0.375	37.01333	- 13.88	11/14/14	37.39	14.02	0.14
THE HERSHEY COMPANY	163	62.85951	- 10,246.10	06/02/14	68'96	15,787.83	5,541.73
HOME DEPOT INC	13	50.48000	- 656.24	06/02/14	80.59	1,047.25	391.01
HOME DEPOT INC		50.48000	- 1,262.00	06/18/14	80.00	1,999.20	737.20
HOME DEPOT INC	50	50.48000	- 2,524.00	10/31/14	97.43	4,869.89	2,345.89
INTEL CORP 50	20	26.66000	- 1,333.00	06/18/14	29.87	1,491.96	158.96
INTERNATIONAL BUSINESS MACHS CORP	50	198.85900	- 9,942.95	06/02/14	185.20	9,258.29	- 684.66
ISHARES MSCI EMERGING MARKETS ETF	100	41.42760	- 4,142.76	06/18/14	43.32	4,328.90	186.14
:	419	115.39604	- 48,350.94	06/02/14	118.89	49,801.31	1,450.37
ISHARES IBOXX \$ INVESTMENT GRADE CORPORATE BOND ETF	503	115.39604	- 58,044,21	10/31/14	119.13	59,906.02	1,861.81
ISHARES IBOXX \$ INVESTMENT GRADE CORPORATE BOND ETF	152	115.39605	- 17,540.20	12/12/14	119.15	18,105.83	565.63
ISHARES RUSSELL MID-CAP ETF	40	157.02000	- 6,280.80	06/18/14	160.11	6,403.05	122.25
ISHARES RUSSELL MID-CAP ETF	29	157.02000	- 10,520.34	12/12/14	163.63	10,960.95	440.61
JPMORGAN CHASE & CO	25	43.14000	- 1,078.50	06/18/14	57.26	1,430.71	352.21
JOHNSON & JOHNSON	25	67.46360	- 1,686.59	06/18/14	101.91	2,546.94	860.35
KIMBERLY-CLARK CORP	25	112.20000	- 2,805.00	06/18/14	110.96	2,773.18	-31.82
LAUDER ESTEE COS INC CL A	163	28 99 95	- 9,726.18	06/02/14	76.51	12,465.98	2,739.80
MACYSINC	75	40.96413	- 3,072.31	06/02/14	60.05	4,501.40	1,429.09



# HARBAUGH FAMILY FOUNDATION INC INVESTMENT MANAGEMENT STATEMENT

Account number 21-75-072-3618098 January 1, 2014 - December 31, 2014

Page 49 of 50

Description	Quantity	Avg. original value at PNC per unit	Total original value at PNC	Sale date	Sale price per unit	Total proceeds	Net realized gain/loss
MACY'S INC	75	40.96413	-3,072.31	06/18/14	57.77	4,330.40	1,258.09
MCDONALD'S CORP	38	100.55895	-3,821.24	06/02/14	102.21	3,882.75	61.51
MCDONALD'S CORP	25	100.55920	- 2,513.98	06/18/14	101.44	2,535.19	21.21
MERCK & CO INC	38	38.34000	- 1,456.92	06/02/14	57.77	2,194.07	737.15
MERCK & CO INC	20	38.34000	- 1,917.00	06/18/14	57.97	2,896.93	979.93
MICROSOFT CORP	100	32.29800	- 3,229.80	06/18/14	41.60	4,156.90	927.10
NATIONAL FUEL GAS CO	25	74.84000	- 1,871.00	06/18/14	76.40	1,909.20	38.20
NATIONAL OILWELL VARCO INC	138	72.89601	- 10,059.65	06/02/14	74.22	10,237.99	178.34
NOW INC	0.500	31.70000	- 15.85	06/06/14	33.07	16.53	89.0
NOW INC	34	31.70676	- 1,078.03	06/10/14	32.78	1,113.30	35.27
PFIZER INC 50	50	22.34000	- 1,117.00	06/18/14	29.51	1,473.96	356.96
PIMCO UNCONSTRAINED BOND FUND INSTITUTIONAL CLASS FD #1863	1,585,474	11.29000	- 17,900.00	06/02/14	11.29	17,900.00	•
PROCTER & GAMBLE CO		0926699	- 1,673.44	06/18/14	79.40	1,984.20	310.76
аиасомм	50	64.61060	- 3,230.53	06/18/14	79.12	3,954.41	723.88
RESMED INC	200	30.75570	- 6,151.14	06/02/14	49.68	9,928.78	3,777.64
ST JUDE MEDICAL INC	25	64.83000	- 1,620.75	06/18/14	66.56	1,663.21	42.46
SCHLUMBERGER LTD SEDOL 2779201 ISIN AN8068571086	25	103.85880	- 2,596.47	06/18/14	106.00	2,649.19	52.72
TEMPLETON GLOBAL BOND FUND AD FUND #616	2,547,651	12.94768	- 32,986.18	06/18/14	13.27	33,807.33	821.15
UNION PACIFIC CORP	25	108.28960	- 2,707.24	06/02/14	198.70	4,966.64	2,259.40
UNION PACIFIC CORP	25	54.14480	- 1,353.62	06/18/14	69'66	2,491.44	1,137.82
UNITED TECHNOLOGIES CORP		104.38680	- 2,609.67	06/18/14	117.09	2,926.43	316.76
VANGUARD FTSE DEVELOPED MARKETS ETF	200	42.69990	- 8,539.98	06/18/14	42.86	8,565.81	25.83



## HARBAUGH FAMILY FOUNDATION INC INVESTMENT MANAGEMENT STATEMENT

Account number 21-75-072-3618098 January 1, 2014 - December 31, 2014

Page 50 of 50

Description	Quantity	Avg. original value at PNC per unit	Total original value at PNC	Sale date	Sale price per unit	Total proceeds	Net realized gain/loss
VANGUARD FTSE DEVELOPED MARKETS ETF	VELOPED MARKETS 130	41.63246	- 5,412.22	12/12/14	38.37	4,984.08	- 428.14
VANGUARD REIT ETF	363	60.64000	- 22,012.32	06/02/14	74 63	27,079.20	5,066.88
VANGUARD REIT 50 ETF	50	60.64000	- 3,032.00	06/18/14	74.22	3,709.41	677.41
VANGUARD SMALL CAP ETF	75	77.97000	- 5,847.75	06/18/14	115.35	8,648.80	2,801.05
VERIZON COMMUNICATIONS INC	25	50.07000	- 1,251.75	06/18/14	49.07	1,225.97	- 25.78
VODAFONE GROUP PLC REV SPLIT 2/24/2014 SEE 92857W308		27.54480	- 6,886.20	12/31/13	39.35	9,829.82	2,943.62
WELLS FARGO & COMPANY 50	50	30.26000	- 1,513.00	06/18/14	51.64	2,580.44	1,067.44
WISCONSIN ENERGY CORP	38	34.47000	- 1,309.86	06/02/14	45.46	1,726.30	416.44
WISCONSIN ENERGY CORP	50	34.46980	- 1,723.49	06/18/14	45.40	2,268.44	544.95

## Form **8868** (Rev. January 2014)

Department of the Treasury Internal Revenue Service

## Application for Extension of Time To File an Exempt Organization Return

File a separate application for each return.

► Information about Form 8868 and its instructions is at www.irs.gov/form8868 .

OMB No. 1545-1709

			,0000			
If you are filing for an Automatic 3-Month Extension, comple	te only Pa	rt I and check this box			<b>X</b>	
<ul> <li>If you are filing for an Additional (Not Automatic) 3-Month Ex</li> </ul>	tension, c	omplete only Part II (on page 2 of	this form).			
Do not complete Part II unless you have already been granted a	an automa	tic 3-month extension on a previous	y filed For	m 8868.		
Electronic filing (e-file) . You can electronically file Form 8868 if	you need a	3-month automatic extension of tim	e to file (6	months for a	corporation	
required to file Form 990-T), or an additional (not automatic) 3-mo	nth extens	ion of time. You can electronically fil	e Form 88	68 to request	an extension	
of time to file any of the forms listed in Part I or Part II with the ex						
Personal Benefit Contracts, which must be sent to the IRS in pap	er format (	see instructions). For more details or	n the elec	tronic filing of t	his form,	
visit www.irs.gov/efile and click on e-file for Charities & Nonprofits	i					
Part I Automatic 3-Month Extension of Time	• Only s	submit original (no copies nee	eded).			
A corporation required to file Form 990-T and requesting an autor	natic 6-mo	nth extension - check this box and c	omplete			
Part I only	• • • • • • • • • • • • • • • • • • • •				▶ 🗀	
All other corporations (including 1120-C filers), partnerships, REM to file income tax returns.	ICs, and tr	usts must use Form 7004 to request		ion of time er's identifying	number	
1				Employer identification number (EIN) or		
print THE HARBAUGH FAMILY	THE HARBAUGH FAMILY			45-4090950		
File by the	e Name and the second s			Social security number (SSN)		
your 405 MADISON AVE FLOOR 8				ounty number	(00.1)	
structions.  City, town or post office, state, and ZIP code. For a foreign address, see instructions.						
TOLEDO, OH 43604						
Enter the Return code for the return that this application is for (file	a separat	e application for each return)			04	
Application Return Application					Return	
s For Code is For					Code	
rm 990 or Form 990-EZ 01 Form 990-T (corporation)					07	
Form 990-BL					08	
Form 4720 (individual)	03 Form 4720 (other than individual)				09	
Form 990-PF	04	Form 5227			10	
Form 990-T (sec. 401(a) or 408(a) trust)	05	Form 6069			11_	
Form 990-T (trust other than above)	06	Form 8870			12	
GORDON ADVISORS  The books are in the care of ► 1301 W. LONG LA  Telephone No. ► 248-952-0200  If the organization does not have an office or place of business  If this is for a Group Return, enter the organization's four digit of the content of	KE RO	Fax No. ► 248-952-029 ted States, check this box	90		> □	
box . If it is for part of the group, check this box and attach a list with the names and EINs of all members the extension is for.						
1 I request an automatic 3-month (6 months for a corporation required to file Form 990-T) extension of time until  AUGUST 15, 2015						
is for the organization's return for:						
► X calendar year 2014 or \						
tax year beginning, and ending						
O If the tour consentered in line 4 is far less than 40 marship at	haal: ***	n. Initial ,	Final retur	-		
2 If the tax year entered in line 1 is for less than 12 months, cl  Change in accounting period	neck reaso	n: Initial return I	-ınaı retur	n 		
3a If this application is for Forms 990-BL, 990-PF, 990-T, 4720, or 6069, enter the tentative tax, less any						
nonrefundable credits. See instructions. 3a \$					3,751 <u>.</u>	
b If this application is for Forms 990-PF, 990-T, 4720, or 6069, enter any refundable credits and						
estimated tax payments made. Include any prior year overpayment allowed as a credit.  3b \$					<u> </u>	
c Balance due. Subtract line 3b from line 3a. Include your payment with this form, if required,						
by using EFTPS (Electronic Federal Tax Payment System). See instructions.  3c \$					3,751.	
Caution. If you are going to make an electronic funds withdrawal instructions.	(direct deb	oit) with this Form 8868, see Form 84	53-EO an	d Form 8879-E	O for payment	

1

it set shalls

35222.01

Form 8868 (Rev. 1-2014)

For Privacy Act and Paperwork Reduction Act Notice, see instructions.